KEY MAP

ROSS

WYL

1ICUSS

VeSS rOe LeSS

--I.I r N
Lbiliman Bd

N

FIXTURE DRAWINGS
STORE #2313
480 NW CHIPMAN RD.
LEE'S SUMMIT, MO 64086

[i7]

1,

VICINITY MAP

L
2

Lee s Summit

ROSS

N

SCOPE OF WORK:
e EXISTING MERCANTILE OCCUPANCY
e INSTALLATION RACKING, SHELVING, REGISTER CABINETS, &
FITTING ROOMS ONLY
NO PLUMBING UNDER THIS SCOPE OF WORK
NO MECHANICAL UNDER THIS SCOPE OF WORK
NO ELECTRICAL UNDER THIS SCOPE OF WORK

SCOPE OF WORK

DAVID LEE, AIA
852 W. VICKERY, SUITE 100
FORT WORTH, TX 76104

CONTACT: ARTHUR CALCATERRA

PHONE: (817) 546-6311
EMAIL: arthurc@qarch.com

ARCHITECT

RELEASE FOR
CONSTRUCTION
AS NOTED ON PLANS REVIEW
DEVELOPMENT SERVICES
LEE'S SUMMIT, MISSOURI
Poage

%, 10/07/2020

LEE'S SUMMIT DEVELOPMENT SERVICES

220 SE GREEN
LEE'S SUMMIT, MO 64063

PHONE: (816) 969-1200

BUILDING DEPARTMENT

APPLICABLE CODES:

BUILDING 2018 INTERNATIONAL BUILDING CODE
MECHANICAL 2018 INTERNATIONAL MECHANICAL CODE
PLUMBING 2018 INTERNATIONAL PLUMBING CODE
ELECTRICAL 2017 NATIONAL ELECTRICAL CODE
FIRE PROTECTION 2018 INTERNATIONAL FIRE CODE
ENERGY 2009 INTERNATIONAL ENERGY CONSERVATION CODE
ACCESSIBILITY 2018 INTERNATIONAL BUILDING CODE
FIRE NFPA 101 LIVE SAFETY CODE
BUILDING INFO:

CONSTRUCTION TYPE: TYPE II-B
OCCUPANCY GROUP: MERCANTILE
GROSS LEASE AREA: 21,976 SQ. FT.
TOTAL OCCUPANT LOAD: (0-499 2 EXITS REQUIRED)
EXIT REQUIREMENTS (2) EXITS REQUIRED; (3) PROVIDED
AUTOMATIC SPRINKLER SYSTEM: YES
SALES; 17,965 / 60 = 300 OCCUPANTS STORAGE 4,011 /300 = 14 (TOTAL OCCUPANT LOAD 314 OCCUPANTS)

MAX LENGTH OF TRAVEL: 250'-0" PROVIDED 215'-2"
314 OCCUPANTS x .15 = 47.1" REQ. PROVIDED 200"

CODE ANALYSIS

DATE OF ISSUE

o

N

o

N

N

SHEETS - ARCHITECTURAL 3
SPO COVER SHEET [
EGR EGRESS PLAN J
SMC FIXTURE PLAN ®
SP3.1 | WOMEN'S FITTING ROOMS [
SP3.2 | MEN'S FITTING ROOMS [
SP4 REGISTER COUNTERS L
SP5 FIXTURE ELEVATIONS & DETAILS [

DRAWING INDEX

TOTAL BUILDING:

21,976 SQ.FT.

TOTAL SALES FLOOR: 17,965 SQ.FT.

PROJECT DATA

12OSS

VeSS O LeSS

STORE PLANNING
AND
DESIGN

5130 Hacienda Drive
Dublin, CA. 94568
TEL.:(925) 965-4400  FAX:(925) 965-4197

[@\}
— S<
{ N T
O~
S5 2l
IS5l 29
= —
- EO - 3
] g~ z, 9
—
< = D ow |
@ N > 35 O w
—1 =4 < 0
S ~ LMD
0 2™~
) GE L Dol
B 0T
= g% %LS&O/LL
- E
S

#
T Digitally signed

by David J. L
Wd uﬁ ' D);te?\éIOZO.Og.eZS

12:25:24-05'00'

STORE #2313

FIXTURE DRAWINGS
480 NW CHIPMAN RD
LEE'S SUMMIT, MO 64086

GROSS AREA 21,976 S.F.
SALES AREA 17,965 S.F.

REVISIONS:

PROJECT NO. 20258
DATE: 09/25/2020
DRAWN BY: AC/AL
SHEET TITLE:

COVER

SHEET

SP0



Joe Frogge
RELEASE FOR CONSTRUCTION


EGR

EGRESS PLAN

S0g 2 g 2
< W
mme A - & ® o N W M S W
Rred n = 3 g 9 © g &
w8 u — N ¥256-8¢/ (£18) Xv4 . 7 Sk X
NEiz 8 c608-95/ (/18) S Q9 . 3
A.M_IN_.WL L = g r o -~ ¢ — N~
L0og _ = 228 ZrLL—019/ SDX3] ‘Lo 104 S Q= 980179 OIN LINNNS S.337T N =
%mma. N - O mmm 001 ¥NS “pAlg AueqdIN M GZ8 Ssc9
S © O — N "
o i i SE8Q ad NVINIHO MN 08Y
A, < m_m,m o
W . M MWH 24T "ON ASNHDIT IHNOSSIN an €lLecH# 4d0O1S < . 5 "
258 LOALIHOMY TYNOISSHAOUd W .
o _ L %) pZd =
T @ = SONIMVYA FUNLXId |£8  |¢ A
N : VIV HAdT dIAVdA @ o O 3.2 |&
=5 . 415 |ee: B
Olo 4 o olo )
R
To)
PN
Q
o
]
N
Q'm
=2 o
O mVu — %
39 02
J s >
<< 0O <O
wlw e &
S0
IO E
= - O
wnbB=
o< =
-1 ©) (0)]
gl
< < =z X
X o - O
e
2253
S sSon&
% 3 _— 1
Sk
w & -
| 7l I oo oo R oo oo — = 1 — = _ : 1
L _ | | | | _ , : " i fiedl | Betdl|BEss H H_ _ ‘,‘ - FJ‘__ﬂ”
_ b4
o |
3 f
=
X
L
o !
l
NI
ol
0| |
~|r
R
1
MVJ
N
N
_ T
| |
_ -
| .
g A A
- — 1 | T a
B i Il | | B
— | \ﬁ ““““““““““““““““““ _ _ |
= | | _ e
Lo - Fq Fa -
= I | | | T =
oo _ mr | _ L E
I e s I _ _ i Jﬁ TR e
Al | i - | = i _ || &
< :_ _ L. ] T T T Hﬂ “““““““““““ i
= e 1 1 1 S | R RO RN J— i — J_fr =
! _ | I [ , ! , , ! , ! _ i L (an]
< || | + —r— [l ] b L\ ““““““““““““ /Y <
| == i i L
” i _ ||
o f
i | _ |
i | i
Fo . f
iy _ |
ot " :
Bl 7
R L —— ¢| — — |_ |
BN — =
ik ® — = o N
| _“ i ,\J
anr > I
| LLl l
B @) Inn
| = L\
. % B
m N |
,_ 0 | -
m - I
T 4 -
[ T — ||W !
L S il -
H:ﬁw | | | W W ! "
O o [e) O O \J\/ i
HOLIOVdNOI HSYHL
@] 0] o] o] @] /sxu\
_ — =
@] 3\
=
58

FLOOR FIXTURE PLAN

SCALE: 3/32"=1'-0"


Joe Frogge
RELEASE FOR CONSTRUCTION


FLOOR FIXTURE PLAN

SCALE: 3/32"=1'-0"

® ADJACENT: TENANT: TBD ®

124'.1.3/18"

I

T 147 51

4-31/2"
31/

1

5 .
410 3/16" 14101/"H s T “ 1

| (=

|

|

|

|

|

|

|

TRASH COMPACTOR

==

©®

4-15/16"
2

I

) sl e Pl
T

+
&
3
0 i
: |

|
|
L
1

43"

-

|.4'-8 5/16"

i

—=4'-3 1/8"+—=

)

21'-6 9/16"

|
|
.
—

,,,,,,,,,,,,,,,,,,,

S ————

1| 4'-77/8

TN T T T T T T T T TN T
|
|
L
—

43"

i
S

O

W hi

L1 |

(Y]

0Ny
0 1

5-4" __5-415116"

5.0"

rw
L
R A

N
r

%

13'-0"

A

—=4'-10 7/16"—=

10 7116"

—4"-10 7/16ﬂ

T

-q,-.h-F-F- - L L L . 7 ¥ |

|
\‘l 10 7/16"
ol } I
o !
i
il I - L . X
I—d“ D I N BN B B B BN B B e i ]
5 | | —
P | 3 6'-11 7/8" 40" I -7 9/16" . “ [ gigw aw ‘ ‘ an " gn on -
- - @ | SR I S a4 L : 4 1/16! | 5-4 || 48 | ‘48L | 54" | il
3 5 = © In] ‘ :T =
3111 3/8" < S © -
— o F I- — O — O S e me S N W N NN e me NN NN N e N NN NN me me S NN e e e NN NN W e e N e N N NN S me N NN e e e N SN e e S N N N N N N N N N N N N N N N N N N S ‘
~ & T Ty T A ) | o -
2 2 | | | | | | O O A O | -

‘” v | | il 41316 T aaorter | i }i—"
S | 1 | [=
- Inn mar B
bl r q I I M
I = 1. s
I I !
® © if
I+ 1
] Lo I |
LHJ I | : 1
1717 1 Bl
| | |
[
| 1 Ll
sl ke
S
3 ZI:% B
6'-13/4" ] I
] ‘ N R [l
@ ol
© I -
s N -
i B
=

!
|
|
|
!
|
!
|
|
!
|
i
—y T

I
!

InnnnmnnE g
DRARAaa g e 1 1
TEERETEN I u
AL A0 A ) )¢

?

?

|
: !
2= TN |
7'-6 5/16" H——
n
[ .

14'-0 5/16" |

® ADJACENT: TENANT: TBD ®

SCOPE OF WORK

LEGEND

NOTES

THE PROJECT CONSISTS OF FIXTURES, CASH WRAPS, & FITTING ROOM INSTALLATION
FOR A NEW RETAIL STORE WITHIN AN EXISTING COMMERCIAL RETAIL BUILDING.

THE WORK INCLUDES BUT IS NOT LIMITED TO:

¢ ALL FIXTURES IN LOCATION(S) LABELED "A" IN THE LEGEND TO BE INSTALLED BY FIXTURE CONTRACTOR PER ENGINEERING
SPECIFICATIONS
ALL FIXTURES IN LOCATION LABELED "B" IN THE LEGEND TO BE INSTALLED BY FIXTURE CONTRACTOR PER ENGINEERING
SPECIFICATIONS
ALL FIXTURES IN LOCATION LABELED "C" IN THE LEGEND TO BE INSTALLED BY FIXTURE CONTRACTOR PER ENGINEERING
SPECIFICATIONS
ALL FIXTURES IN LOCATION(S) LABELED "D" IN THE LEGEND TO BE INSTALLED BY FIXTURE CONTRACTOR PER ENGINEERING
SPECIFICATIONS
ALL FIXTURES IN LOCATION(S) LABELED "E" IN THE LEGEND TO BE INSTALLED BY FIXTURE CONTRACTOR PER ENGINEERING
SPECIFICATIONS.

BUILDING, FIRE SPRINKLER SYSTEM, AND EXTERIOR SIGNAGE IS ON SEPARATE PERMIT
AND SHALL BE SUBMITTED TO, REVIEWED AND APPROVED BY THE APPROPRIATE CITY
PERMIT OFFICE.

(A) STOCK ROOM WALL FIXTURES 96" TALL

ALL PERIMETER WALL FIXTURES 96" TALL
(C) ALL FLOOR GONDOLAS 66" TALL

(D) ALL OTHER FLOOR RACKS 60" TALL & UNDER
(E) ALL FLOOR GONDOLAS 78" TALL

NO HIGH PILED STORAGE

COMMODITY CLASSIFICATION "CLASS 4"
80% APPAREL, TOWELS, BLANKETS, & PILLOWS
20% HOME ACCENTS - PICTURES, MIRRORS, GLASSWARE, COOKWARE

MAXIMUM STORAGE NOT TO EXCEED 8

RELEASE FOR

CONSTRUCTION
AS NOTED ON PLANS REVIEW
DEVELOPMENT SERVICES

VeSS FOo LESS

STORE PLANNING
AND
DESIGN

5130 Hacienda Drive
Dublin, CA. 94568
TEL.:(925) 965-4400  FAX:(925) 965-4197

AlA

PROFESSIONAL ARCHITECT

MISSOURI LICENSE NO. 7172
Suite 1
761041142

825 W. Vickery Blvd,,
FAX (817) 738—9524

Fort Worth, Texas
(817) 738-8095

DAVID LEE,

AU LT
WV cawe B g, o

- ‘ié“ ;P
“Htigitally signed by

%,
Wdu , David J. Lee
Date: 2020.09.25

12:26:25-05'00'

STORE #2313

FIXTURE DRAWINGS
480 NW CHIPMAN RD
LEE'S SUMMIT, MO 64086

GROSS AREA 21,976 S.F.
SALES AREA 17,965 S.F.

REVISIONS:

PROJECT NO. 20258
DATE: 09/25/2020
DRAWN BY: AC/AL
SHEET TITLE:

FIXTURE PLAN

SMC



Joe Frogge
RELEASE FOR CONSTRUCTION


CLEAR SILICONE CAULK
AROUND EDGES OF CENTER
PANEL @ WALL

MIRROR BACKING

"

/-

3/4" x 3/4" BRONZE FRAME
W/ CONTINUOUS HINGES FOR
ADJUSTMENT OF SIDE
PANELS BRONZE TO MATGH
PC-4 ON FINISH AND
MATERIAL SCHEDULE

B-2 (6") BASE
FIXTURE CONTRACTOR TO PROVIDE L'

CLIP'S ALONG BACK OF MIRROR AND WALL
TO SECURE TO WALL TYP.

MIRROR AT COMMON AREA

SCALE: NOT TO SCALE

410"

3'_8"

3!_8"

M
/ =
| 37"
M
— |
M A e | e [
i\\\\\\g CLEAR = -
SPACE
| JL /. % \
— AN
T / L M
LD ‘
"=
V AREA

WOMEN'S FITTING ROOM PLAN

SCALE: 3/8" =1'-0"

1" x 1" TOP CHANNEL
TO PANEL W/ #8 PAN

SECURE
HEAD

WOOD SCREWS 12" O.C.

2'-5" @ TYP. STALL
3'-2" @ ADA STALL

1" x 1" TOP CHANNEL SECURE

4'_0“
L
\W
COAT HOOK ¢
\ _ EQ. & EQ. [« PERIMETER WALL 10" 13
1 1
HOOK PANEL COAT HOOKS 65" W
\ /) | SCREWED TO PANELS Y T 5
/ y | — FACE OF WALL OR S~ [ =
7/ PARTITION ———— == -
L%’?rg PIN CUSHION MEN'S

. MIRROR FITTING ONLY .

o o
|3 / 1" X 1" ALUM. "U" . R
5| © 7/ . CHANNEL SCREW INTO . [SHDEBOLT | R
© ht ANCHORS IN WALL 12" 90 o

0.C. WITH COUNTER 0 o
- SUNK CREWS @ 12" ON____|
. ©, CETNER
N ~ YA
B o o ™ —,
S = = OPEN 7
3'_6"
1'_0“
REAR ELEVATION SIDE ELEVATION

1" x 1" TOP CHANNEL SECURE TO

LAG SCREWS /4" X4"

3 ADAFITTING ROOM

SCALE: 3/8" = 1'-0"

16" X48" PLATE MIRROR
(MOUNT 24" AFF) USE
CLEAR CAULK ON ALL
EDGES TYP.

DOOR PANEL

COAT HOOKS
BOTH SIDES

PIN CUSHION (MOUNTS TO
WALL W/ SCREWS) USE
CLEAR CAULK AT ALL
EDGES MEN'S ROOM ONLY

DIVIDER U-CHANNEL
(MOUNTS TO WALL)

ANTI-GRAFFITI PANEL FROM
THE TOP OF THE BENCH TO
THE TOP OF THE SIDE
PANEL

TRU-BOLT BENCHES

HOOK PANEL MOUNTED
TO DRYWALL

TOP U-CHANNEL

END CAP U-CHANNEL
(SECURED TO WALL )

FILLER STRIP CUT TO FIT
IN TOP U-CHANNEL

SCRIBE BENCH ( MOUNT 18" AFF )
USE BEIGE CAULK @ ALL EDGES

ANTI-GRAFFITI PANEL FROM
THE FLOOR TO THE TO THE
TOP OF THE SIDE PANEL PLACE
THE BASE COVE OVER THE
GRAFFITI PANEL.

ADA FITTING ROOM

TO PANEL W/ #8 PAN HEAD PANEL TOGETHER WITH 1/4-20 4.5"
WOOD SCREWS 12" Q.C. W/ #8 PAN HEAD WOOD SCREWS 12" LONG BOLTS (2) SWING CLEAR HINGES
FILLER BLOCK TYP. ABOVE DOORS o/C ( MOUNTED INSIDE )
5 OPEN HOOK PANEL SCREWED TO PANEL 4-0"
V. ;
PIN CUSHION N FITTINGONLY | 6" BLACK BASE COVE
A ~— PIN CUSHION | FACE OF WALL
MEN'S FITTING OR PARTITION
ONLY
- - [ -
o 5 PERIMETER WALL 5 SLIDE BOLT
~| [ 4" DOOR PULL Mo y/—v _ 16" X 48"
¥ © MIRROR
o . 110" LAG SCREW BENCH CLEAT
. ~ 2 INTO WALL WITH 1/4" X4 LAG 5 FRONT FACE PANEL U-CHANNEL
. N BOLTS SECURED TO FLOOR WITH 1 1/2"
o T C—H ) SCREW
. : 4" DOOR PULL & ANCHERS ( TYP. 2 LOCATIONS)
© © —— PERIMETER WALL (MOUNTED TO THE INSIDE
= L g g OPEN
OPzEl-l\] ING# 1" x 1" BOTTOM CHANNEL SECURE
TO PANEL W/ #8 PAN HEAD
TO PANEL Wi #5 PAN HE FITTING ROOM STARTER (A)
SCALE: 3/8" = 1'-0"
FILLER BLOCK
TYPICAL ABOVE DOORS I"x 1" TOP CHANNEL SECURED *SIDENOTE:
TO PANEL W/ #& PAN HEAD INSTALL GRAB BAR IN
/ WOOD SCREWS 12" O.C. = EVERY STATE EXCEPT CA.
_ 80
\ CHILING *SIDENOTE: r
\/ et OF INSTALL GRAB BAR IN
OPEN PERIVETER —_| EVERY STATE EXCEPT CA. | onee RV
_ WALL ~ 1 el 005 | 4-V |
20.24" | BENCH TO BE oy e
PIN CUSHION DEEP ; MOUNT‘!ED CLEAR SPACE
1 @17-19"AFF
e | - 0053¢ FAP
I"x 1" END n e,
/ CHANNEL olll® odff
BOBRICK. [] Q Sl
B-5806-30 3 ©
I -GRAB BAR o
END CHANNEL T
" SECURED TO WALL ) [ . ‘ le—— 48" MIN LONG ‘——l
1P '
3 16 B 36
| OPEN l ©
= e IR 1)
I 3¢ I \_ DETAIL 2 20 |3[Q ¥
I*X 1" FLOOR CHANNEL l o8 ”_L8
00486 : 19 1 00486
L—
FRONT ELEVATION - SIDE_SECTION
HAG SCREWS T/t ( SECURED TO WALL ) IN TOP CHANNEL
I"x 1" TOP CHANNEL SECURED TO PANEL /
/_ W/ #8& PAN HEAD WOOD SCREWS | 2" O/C F = T ¥ EID CHANINEL
/ 19" X 55" PLATE MIRROR \/ /_ ( SECURED TO WALL )
_ ( MOUNT | 2" AFF )
. PERIMETER USE CLEAR CAULK ~ K|
PERIMETER WALL —| 17-19 |~ WAL ON ALL EDGES TYP.
N HIGH A
.~ | O —
-8 COAT HOOKS // 19" X 55 QY
90 3/4 PLATE HOOK PANEL MOUNTED == _ ) »
11| o T INSTALL GRAB BAR IN
-1 m 30 55 \
3 = o EVERY STATE EXCEPT CA.
20_2‘:4.. —L  BOBRICK // CENTER —=
36" I—F DEEP B-5806-30-GRAB BAR //
2'-9" f s /
17-19" - I S
HIGH 3 - 12
i i
ADA BENCH ( 1 &" AFF ) \
USE BEIGE CAULK @ ALL EDGES \

Page 35 of 44

RELEASE FOR

CONSTRUCTION
AS NOTED ON PLANS REVIEW
DEVELOPMENT SERVICES

VeSS O LeSS

STORE PLANNING
AND
DESIGN

5130 Hacienda Drive
Dublin, CA. 94668
TEL.:(925) 965-4400  FAX:(925) 965-4197

[@N]

— S<

o2 —

f = - @ﬁ\
[She =~
IS5l 29
= —

- EO R

Y] ¢~ © R
Eci@ D367

Y wn > 5
3 Z e
= | O o
o4 ST R™
7 SR

) GE L Dol
B e

54 O
g% 0o L

- E

S

DAVID J. LEE 7 °

t,f!?gj-gj n By i
a i

- féitally signed by
Wd u& David J. Lee
Date: 2020.09.25

12:26:40-05'00'

STORE #2313

FIXTURE DRAWINGS
480 NW CHIPMAN RD.
LEE'S SUMMIT, MO 64086

21,976 S.F.
17,965 S.F.

GROSS AREA
SALES AREA

REVISIONS:

PROJECT NO. 20258
DATE: 09/25/2020
DRAWN BY: AC/AL
SHEET TITLE:

WOMEN'S FITTING
ROOMS

SP3.1



Joe Frogge
RELEASE FOR CONSTRUCTION


MIRROR BACKING —

5I_OII

AFF

I2II

MIRROR AT COMMON AREA

SCALE: NOT TO SCALE

CLEAR SILICONE CAULK
AROUND EDGES OF PANEL
@ NALL

3/16" CLEAR MIRR

3/4" x 3/4" SATIN ALUM.
FRAME

3!_4"

/ MIRROR AT
oow —_COMMON
Shg AREA
ox=5 | 3'-10
m O =/

HON34
W87 X ¥

/
\
=

|
|

e —

MEN'S FITTING ROOM PLAN

SCALE: 3/8" = 1'-0"

3'_4"

1" x 1" TOP CHANNEL SECURE
TO PANEL W/ #8 PAN HEAD
WOOD SCREWS 12" O.C.

4|-0"
"}/
COAT HOOK ¢ \
, EQ Yt EQ |~ PERIMETER WALL 1'-0" 1-3"
L
1 1 1
HOOK PANEL COAT HOOKS 65" —| W
AV / / SCREWED TO PANELA F F. 5 16" X48" PLATE MIRROR
/ [ ~ FACE OF WALL OR ~rv] [ = (MOUNT 24" AFF) USE HOOK PANEL MOUNTED
%/ PARTITION — = CLEAR CAULK ON ALL TO DRYWALL
16"x48" EDGES TYP.
PIN CUSHION MEN'S TOP U-CHANNEL
PLATE
e M?ROR FITTING ONLY -
o 1" X 1" ALUM. "U" . | d DOOR PANEL
13 To) = N~
< / / 5 CHANNEL SCREW INTO 5 SLIDE BOLT\ﬂ .2 ’,
© 9 ANCHORS IN WALL 12" “ RS =
0.C. WITH COUNTER 0 ) _
- SUNK CREWS @ 12"ON | = END CAP U-CHANNEL
. © CETNER COAT HOOKS S SECURED TO WALL
LN AT BOTH SIDES ) ' ( )
T © o 7 T =
; : ’ = =
~ \\ '\ FILLER STRIP CUT TO FIT
3 y o PIN CUSHION (MOUNTS TO i IN TOP U-CHANNEL
- WALL W/ SCREWS) USE
REAR ELEVATION SIDE ELEVATION CLEAR CAULKAT ALL
EDGES MEN'S ROOM ONLY
SCRIBE BENCH ( MOUNT 18" AFF )
DIVIDER U-CHANNEL USE BEIGE CAULK @ ALL EDGES
(MOUNTS TO WALL
ANTI-GRAFFITI PANEL FROM
ANTI-GRAFFITI PANEL FROM THE FLOOR TO THE TO THE
THE TOP OF THE BENCH TO TOP OF THE SIDE PANEL PLACE
THE TOP OF THE SIDE - THE BASE COVE OVER THE
2'-5" @ TYP. STALL PANEL GRAFFITI PANEL.
1" x 1" TOP CHANNEL SECUR53 -2" @ ADA STALL 1" x 1" TOP CHANNEL SECURE TO TRU-BOLT BENCHES .
WOOD SCREWS 12" Q.C. W/ #8 PAN HEAD WOOD SCREWS 12" LONG BOLTS " (2) SWING CLEAR HINGES
Q\ FILLER BLOCK TYP. ABOVE DOORS oiC ( MOUNTED INSIDE )
5 OPEN HOOK PANEL SCREWED TO PANEL 4-0"
Aﬁ |
p: 5
(e 0] > "
PIN CUSHION WileS FITTING ONLY 7 >~ 6" BLACK BASE COVE
A ~=— PIN CUSHION [~ PACE OF WALL )
MEN'S FITTING OR PARTITION
ONLY ©
- - | - \
5 5 PERIMETER WALL 5 SLIDE BOLT o B\
~| o - 4" DOOR PULL ~ s )AV 16" X 48" p % O
3 © MIRROR \/
) A 10" LAG SCREW BENCH CLEAT
. ~ 5 INTO WALL WITH 1/4" X4 LAG § FRONT FACE PANEL U-CHANNEL
. ,ﬁ — BOLTS SECURED TO FLOOR WITH 1 1/2"
) SCREW
. z 4" DOOR PULL & ANCHERS ( TYP. 2 LOCATIONS)
) © —— PERIMETER WALL (MOUNTED TO THE INSIDE
Ny — 2'-5" — - OPEN
OP2E| r\]ING# 1" x 1" BOTTOM CHANNEL SECURE
TO PANEL W/ #8 PAN HEAD
TO PANEL Wi PAN HE FITTING ROOM STARTER (A)
SCALE: 3/8" = 1'-0"
FILLER BLOCK
TYPICAL ABOVE DOORS I"x 1" TOP CHANNEL SECURED *SIDENOTE:
TO PANEL W/ #& PAN HEAD INSTALL GRAB BAR IN
/ WOOD SCREWS 12" O.C. = EVERY STATE EXCEPT CA.
_ 80
\ ke *SIDENOTE: r
\/ it o INSTALL GRAB BAR IN
OPEN PERIVETER —_| EVERY STATE EXCEPT CA. | Sonee oiPe
- WAL B 1 el 005 14-V |
20.24" | BENCH TO BE oy e
\ s . 2 (o}
PIN CUSHION i -~ MOUNTED e
1 @I7T19"AFF
l il 00536 FHP
I"x 1" END o —||0
/ CHANNEL RIE Sl
BOBRICK [ ] Q o
B-5806-30 3 ©
-GRAB BAR o
END CHANNEL T
" SECURED TO WALL ) [ . ‘ le—— 48" MIN LONG ‘——l
1P '
3 e B 36
| OPEN l w
I —_— : 3| o
3¢ \_ DETAIL 2 20 |30 10
| | I'X 1" FLOOR CHANNEL l 3|3 18
00486 : 19 1 00486
L—
FRONT ELEVATION - SIDE_SECTION
HAG SCREWS 1At ( SECURED TO WALL ) IN TOP CHANNEL
|"x |"TOP CHANNEL SECURED TO PANEL /
/_ W/ #8& PAN HEAD WOOD SCREWS | 2" O/C ’ T T ¥ | |
19" X 55" PLATE MIRROR \/ F;IECCUH;EI[; Eé WALL )
_ / ( MOUNT | 2" AFF ) /_ X
. PERIMETER USE CLEAR CAULK ~ K|
PERIMETER WALL —| 17-19 L~ WALL ON ALL EDGES TYP. ¥
N HIGH A
o 4—‘
e COAT HOOKS 7/ lony 5o a
50 3/4 y PLATE HOOK PANEL MOUNTED — SN CSIDENOTE.
/ V VIFROR TO DRYWALL ~===5)_|| | .
T - 55 || EVERY STATE EXGEPT CA
— o (D -
204"~}  BOBRICK // CENTER —=
36" e B-5806-30-GRAB BAR
| DEEP / / I
o
17-19" I T <
HIGH 3 - 12
i i
ADA BENCH ( 18" AFF) \
USE BEIGE CAULK @ ALL EDGES \

ADA FITTING ROOM

SCALE: 3/8" = 1'-0"

LAG SCREWS /4" X4"

ADA FITTING ROOM Page 35 of 44

RELEASE FOR

CONSTRUCTION
AS NOTED ON PLANS REVIEW
DEVELOPMENT SERVICES

VeSS O LeSS

STORE PLANNING
AND

DESIGN

5130 Hacienda Drive

Dublin, CA. 94668

TEL.:(925) 965-4400  FAX:(925) 965-4197

AlA

DAVID LEE,

PROFESSIONAL ARCHITECT
MISSOURI LICENSE NO. 7172

O N
SIS
o |
=<
SO
R
N ~
= N
> Lo
= »
CDUL() |
>0 3%
N
o =
AN
S -
= C —~
cO
> s
. O~
i; ~
N
o<
™N O o<
OOLL@/LL

e

B 2
Hapigitally signed

Towd Lee -

by David J. Lee
Date: 2020.09.25
12:26:55-05'00'

FIXTURE DRAWINGS

STORE #2313

480 NW CHIPMAN RD.
LEE'S SUMMIT, MO 64086

GROSS AREA

21,976 S.F.

SALES AREA

17,965 S.F.

REVISIONS:

PROJECT NO. 20258
DATE: 09/25/2020
DRAWN BY: AC/AL
SHEET TITLE:

MEN'S FITTING

ROOMS

SP3.2



Joe Frogge
RELEASE FOR CONSTRUCTION


REGISTER PLAN

SCALE: 3/8" = 1'-0"

~

n\qﬁﬂ SWING GATE

EXIT

\07‘—1\

)
eS|

/

=il

H
48" 3/4 VIEW
JEWELRY
SHOWCAS
: s 2
2 4
N\
A A\
N
g, 8
> S
§§% T T U
2u5
AR 1. 14
VN 2
- —\ PRINTER I
N 6'-1 J(E0 o 2
42 E Qo -
o7 18 T
el E 2
N go |8 % W
N\ AN X7 o f
g (%] 7'_6"
2
z U\
oy 0
S&S i
523 -
253 o
NEEIN S b ‘Q\|
©
<t &
-— L
% ]\ T T T
|
N\ PRINTER g
v ST
9 o
N wd EQo
= N o7 18 T
L I g X W
> S sd [z 2
Tdz g0 5 T O
(3] a v O
=0 o @
2Lz 8
AN \
N|
X
q <
H ug
\ T

3

| (.

(@)

72N

M

T

H3LNIEd

|
1
. ol SWING GATE
e‘ "-H (1T 1T
o | fe
T T 1 =
2 J |, |
YILINIEd
o™ o
) : W
5 w
E s
: Bk
L | 3 %

i

WINDOW

WINDOW

1]
i |
&
- )
j Mot
T <
3] 5;
2 g gE
Z 48/ )z¢g
1 [yl o o
[5] g%
14
AN
H Q =
L ™
T T T ﬁ
2 E&EIJJ\WH‘:{ M
- E e
" Nortl
T <
3] w k=
g =il
Z LIz
P &3
w o W
awn
14
2
& 5| 3u
Lo L]
(@)
L
T T T
2 EEEIJJ\@EH ﬂ
)
o o] 6]
NOE: s
(&) w
@ =il s
Z LTz
I g 3 33
1%} o W
awn
14
2
© g
U o S
W
= ]
= == : =
= vl SWING GATE
!
(2]
Q
e
o=
T
oD
O O
o Ww
[al%]
[1'q
£ o
_I
'\

DROP HOLE
FOR SECURITY TAGS

2

6"

29"

20" 25"

11"
/

|

o) )
.ee B
e

b=l

1

31"

36"

54"

RELEASE FOR

CONSTRUCTION
AS NOTED ON PLANS REVIEW
DEVELOPMENT SERVICES

1

VeSS O LeSS

STORE PLANNING
AND
DESIGN

5130 Hacienda Drive
Dublin, CA. 94568

TEL.:(925) 965-4400  FAX:(925) 965-4197

[@N]

— S<
o2 —

f = - @T
o = <

/= - 292
= —

- EO ."!g ~
] o~ ° >
] % D557

wn > >
3 Z e
= | O o
= ST R™
7 SR
) GE L Dol
B e
;4 O
g% 0o L
= £
S

f + [ DAVID J. LEE
3 l,:?:‘:'-;*—ﬁ*

%igitally signed by
, David J. Lee
Date: 2020.09.25
12:27:13-05'00

Dwd Le

STORE #2313

FIXTURE DRAWINGS
480 NW CHIPMAN RD
LEE'S SUMMIT, MO 64086

GROSS AREA

21,976 S.F.

SALES AREA

17,965 S.F.

r .

™\ ELEVATION

N.T.S.

REGISTER ELEVATIONS

N

>\ ELEVATION

N.T.S.

REVISIONS:

PROJECT NO. 20258
DATE: 09/25/2020
DRAWN BY: AC/AL
SHEET TITLE:

REGISTER
COUNTERS

SP4



Joe Frogge
RELEASE FOR CONSTRUCTION


G10-6 - 78"H X 42"W X 18" BASE

SIGN HOLDER INSERT @ ONE
(\ END ONLY (SEE DET-3)

| 1/4" DIA. HANGROD TUBING
N/ REMOVABLE END CAP
INSERT. (SEE DET-2)

HANGROD ¢ ADJUSTMENT STEM
FINISH 1S POLISHED CHROME

DTOP WITH 2 CLOSELY SPACED
HORIZONTAL WIRE

RGDR{FIBBEIBEAHCEY

BOTTOM WITH ONE

TLTRGTT48-PC049

HORIZONTAL WIR

TLSSASHBGIN

TOP WITH 2 CLOSELY SPA

668 6 A 8

I"sq 16 GAUGE STEEL TUBING
DIAGONAL BRACE -

I"sq 16 GAUGE STEEL TUBING
TYP. FOR FRAME. NELD g

¢ GRIND SMOOTH ALL
g\ =-2

JOINT TYPICAL.
ig)

L(@ BLACK TWIN LOCKING CASTERS
ISOMETRIC W/ 5/16'-|& THREADED STEM
NTS. @

3/8" DIA.HOLES @ 2" 0.C FOR
ADJUSTMENT ARM EUTTON

PROVIDE 3'(L) ASSEMBLY LUG

N/ (2) 3/8"-16 THREADED BOLTS

FOR ATTACHING CRO9S BRACE @
TOP & BOTTOM TO END FRAMES.

3/8"-271 THREADED INSERT
SET FLUSH FOR SIGNHOLDER

REMOVABLE END
CAP SEE DET-2

| 1/4" DIA. 16 GAUGE
STEEL TUBING

5/16" FRICTION
‘ BUTTON TO FIT
INTO 3/6" DIA. HOLE

IN HANGROD

2" DIA. Il GAUGE DIS

WELDED TO STEM I /6" DIA. |6 GAUGE
A TUBING STEM

i DETAIL SLLlG)

WNELDED TO | 1/4" DIA N.T.S.
HANGROD. GRIND
NELD SMOOTH

e E—

HORIZONTAL WIRES - ?

X

=

TLTRUEFE12-PC049

RGDMPGBM4866-PC049 N; TLTRGEFBE4212MPGM1
. _. 2
g I: 3635799
7 i
E ll
— — ﬂ "~ TLTRGEF4266MPGM-C
i &
— i TLTRGEF-HDWR-PC049
j g (1) METL,CONN,TOP,END,FRAME
= l 2) SCREW,SOCKET,BUTTON,BLACK,1/4-20X1/2IN
2) WASHER,FLAT,1/4,1D.281,0D.625
j 1) BOLT,JOINT,CONNECTOR,1/4-20X2 3/4

BOTTOM WITH ONE

HORIZONTAL WIRE

RGDSTBT-48-SW C049

) NUT,JOINT,CONNECTOR, 1/4-20
SCREW,#10X3/4,PH,PHIL, TEK,BLK

(
(
(
b
(2) WASHER,FLAT,PLATED,BLK,1/4

1
2
2

RGDSTUE-6642L-1

FFUS-418-PC049

SFA-RD-1

2/8" DIA. HOLE TO
RECIEVE END CAP
FRICTION CATCH

5/16" DIA. HD

| /4" DIA. 16 GAUGE
HANGROD

3/8'-27 THREADED INSERT
@ 5 1/2" FROM (1) END ONLY
WELD IN PLACE

SPRING BUTTONS 13/16"sq, TUBING WELDED

TO HANGROD

DETAIL

NT.S.

(ADJUSTABLE HANGRO ‘ E T A n L

(HANGROD SECTION 3
NTS.

GONDOLA GENERAL INSTALLATION (D) - FOR REFERENCE ONLY

SCALE: NOT TO SCALE

P403 - 96"H X 48"W X 22" BASE P430 - 96"H X 48"W X 12" BASE

N 3\ - DRYWALL PARTITION N N‘ei DRYWALL PARTITION
S g 1X4 WOOD LEDGER STRIPS
. . Y SECURE LEDGER TO WALL
’ : 48" g R V W/(2)48x2-1 /2" SELF= %ﬁ 48" W‘
. | | . DRILUNG SHEET METAL
: = R 2 SCREWS. TWO SCREWS AT )N - %
.4 Y EACH STUD.
L " i e M = T~E="" 6" MOUNTING BRACKET: o X : )
W 42 B MOUNTING BRACKETS MOUNT w/ ( < MOUNT W/
2 3 . #101-1/2"WOOD_SCREWS, _ s 9" (2)#1061-1/2"W00D
‘ " e Hv SCREWS.
— \ S22t I Q" WETAL SHELVES 9"
1%" ﬁwm SHELVES y H ‘P
1 J%4 WOOD LEDGER STRIPS U/ 1 F“ s " 9‘"
SECURE LEDGER TO WALL X
é 1 %" W/(2)48x0—1/2"SELF— | ? ) s 9" gh'
[— RILLING SHEET METAL \ - . ‘ ‘ T .
é RCRENS. THO SCRENS AT .96 96 sﬁ“ UPRIGH ‘ﬁ. 96
12" Lo ACH STUD. 1 9 9
78" gb a |
\ s W 1X4 WOOD LEDGER STRIPS M
é 78" 1%" — 9" SECURE LEDGER TO WALL 9‘
" " % W/(2)#Br2—1 /2"SELF
? \ 1 s " DR/\(LL%VﬁGXSHEéT META\ g‘h'
: \ SCREWS. TWO SCREWS AT
1%" R — \ y@% EACH STUD. #
_— q 23 === ST = =
‘ ‘ 1 %" g" y 9 0 S 1 n ﬁ"
: N
FRONT SIDE FRONT SIDE FRONT

GONDOLA ELEVATIONS (B) - REFER TO SMD

SCALE: NOT TO SCALE

GONDOLA GENERAL INSTALLATION (C) - FOR REFERENCE ONLY

SCALE: NOT TO SCALE

SWG466EE
G466EE
Part Number Description Qty.
FFUS-418-PC049 Flush Front Upper Shelf 2
RGDMPGBE4812-PC049 | Rolling Gondola Display MPG Back 1
RGDMPGBM4866-PC049 | Rolling Gondola Display, Multipurpose Grid Back 1
RGDSTBT-48-PC049 Rolling Gondola Display, Single Track Bottom TU 1
RGDSTUE-6642L-1 RGDSTUE-6642L-PC049 1
TLCE1E12-PC049 TL Center Ext Upright Single Trl End F/Back 1
TLSS48-PC049 Splicer Spanner Single Track 1
TLTRGEF4266MPGM-2 | TLTRGEF4266MPGM-PC049-PC049 1
TLTRGEF-HDWR-PC049 | Pack, Hardware, TLTRGEF, PC285 1
TLTRGEFBE4212MPGM1 TLTRGEFBE4212MPGM-PC049 1
3635799 Pack, Hardware, TLTRGEFBE, NH12 1
TLTRGTT48-PC049 Tubeline, T-Rack, Rolling, Display, Single Track, Top 1
TLTRUEFE12-PC049 TL Tru End Frame Ext. 2
WAUS-4216-PC049 Wrap Around Upper Shelf 1
SFA-RD-1 Seismic Floor Anchor-Regular Duty 2
ANCWEDGE-3825 Anchor Wedge Bolt 3/8"x2.5" 4

SCALE: NOT TO SCALE

e 36" & 48"
S J—
T 4 i)
e iy B 8 g
— = = e
—_ 1%. -

| |

STOCK ROOM FIXTURES (A) - REFER TO SMD

RELEASE FOR

CONSTRUCTION
AS NOTED ON PLANS REVIEW
DEVELOPMENT SERVICES

VeSS O LeSS

STORE PLANNING
AND
DESIGN

5130 Hacienda Drive
Dublin, CA. 94568
TEL.:(925) 965-4400  FAX:(925) 965-4197

[@\}

— S<

o2 —

f = - @T
[She =~
IS5l 29
[ —

- EO R
Y] ¢~ © R
] % D557

wn > 5
3 Z e
= | O o
o4 ST 8™~
7 SR

) GE L Dol
B e

;4 O
g% 0o L

- E

S

Wﬂ?gnally signed
Wﬁ UO , by David J. Lee
Date: 2020.09.25

12:27:30-05'00'

STORE #2313

FIXTURE DRAWINGS
480 NW CHIPMAN RD
LEE'S SUMMIT, MO 64086

21,976 S.F.
17,965 S.F.

GROSS AREA
SALES AREA

REVISIONS:

PROJECT NO. 20258
DATE: 09/25/2020
DRAWN BY: AC/AL
SHEET TITLE:

FIXTURE ELEVATIONS
& DETAILS

SP5



Joe Frogge
RELEASE FOR CONSTRUCTION


		2020-10-07T15:23:22-0500
	Joe Frogge
	release for construction




